FBL 35N#!

ITIEKESES HEKELT0.8
19.1£0.5 G+0.3
F£0.3
E+0.3
D=+0.3
n—4.5x5.3 25.410.3
Fer——F——————————— = ———— = -—— - —
A+0.3 | BB, BRI 6—4.5x5.3
B+0.3
19.1+0.5 C+0.3
HiEKE(L—7.6)+0.8
13+0.5 SMUEE
FLEIE
o]
o
H
(32}
To)
<2}
BT mm
" s . REANE| _
E?lL_L‘EQE ﬂji REFLRT - AFHE | RE
N/2H kg/4R
(£0.8) (£3) A B ® D E F 6 | AMmhiE °
254 280 | 76.2 |154.9[180.3| 76.2 | 139.7 [190.5 | 215.9 | 4 290 0. 61
305 330 | 76.2 |154.9|231.1| 76.2 | 190.5 | 241.3 | 266.7 | 4 290 0.74
356 381 127 | — [266.7] 88.9 | 215.9]292.1 | 317.5 3 280 0.86
406 432 [152.4 | — [317.5| 127 |241.3|342.9 | 368.3 3 270 0.98
457 483 |177.8| — |368.3| 127 |292.1393.7 | 419.1 3 250 1.1
508 533 | 152.4 | 342.9 | 419.1 | 152.4 | 317.5 | 444.5 | 469.9 | 4 240 1.22
NEREL S BIH B3
FBL35N +508L
’A‘%ﬂ’\ﬂ% EJLL,L.\‘b:F (B fImm)
BN13-24 9nHIK e https://tech.thk.com




FBL 35N-P16%!

1TREKESE3 HiEKEL+0.8
15.9+0.5 D+0.3
C+0.3
B+0.3
A+0.3
111.1£0.3
4
$4.5 HEE S 4.5%5.3 ‘122574;52
xS 740,
Ber———e—————— TS St e -—-—- ——— o}
| [127+03
‘ 4.5%5.
254403 i 5x5.3
101.640.3 BEATE
E+0.3 N .
Fio03 13+0.5 sMUsE
15.9+0.5 G+0.3 S Rl
MEKE(L—-7.6)%0.8
0[1.2 E-/ 1.2
o
Tl 12
m.
3
TNRRE R R M IE LR SRS, SRS R MAE R A MEE
Ho FTBRTERRHETKE. Ja
BT T
BT mm
s /=30 =P S =P N
itk | 7 RRART p;fﬂ 'yffm“ BEHE| RE
(£0.8) (£3) A B c D E F G i | N/ kg/4d
254 280 — | — |209.5(222.2] — [203.2]215.9] 6 6 290 0. 61
305 330 — [149.2]260.3| 273 [233.1] 254 [266.7| 7 7 290 0.74
356 381 — | 200 [311.1(323.8258.5(304.8[317.5| 7 7 280 0.86
406 432 — [250.8]361.9(374.6283.9[355.6[368.3| 7 7 270 0.98
457 483 |212.7[301.6|412.7]425.4|309. 3 [406. 4| 419.1] 7 8 250 1.1
508 533 |238.1[352.4(463.5(476.2(334.7[457.2(469.9] 7 8 240 1.22
PNFRELS B9 R A
FBL35N-P16 +508L
T T
NHES HBERKE (B{Imm)
TR [N13-25

BTN Y .





